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Multiple Choice Questions

1. Every rational number is ?

A. a natural number

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TRxWhdhrzN7I


B. an integer

C. a real number

D. a whole number

Answer: C

Watch Video Solution

2. Between two rational numbers

A. there is no rational number

B. there is exactly one rational number

https://dl.doubtnut.com/l/_TRxWhdhrzN7I
https://dl.doubtnut.com/l/_8qGGhXyG5jhe


C. there are infinitely many rational

number

D. there are only rational numbers and no

irrational numbers

Answer: C

Watch Video Solution

3. Decimal representation of a rational cannot

be

https://dl.doubtnut.com/l/_8qGGhXyG5jhe
https://dl.doubtnut.com/l/_AcXsC1niEMCD


A. terminating

B. non-terminating

C. non-terminating repeating

D. non-terminating non- repeating

Answer: D

Watch Video Solution

4. The product of any two irrational numbers

is

https://dl.doubtnut.com/l/_AcXsC1niEMCD
https://dl.doubtnut.com/l/_QIWizAIMouvh


A. always an irrational number

B. always a rational number

C. always an integer

D. sometimes rational, sometimes

irrational

Answer: D

Watch Video Solution

5. The decimal expansion of the number  is√2

https://dl.doubtnut.com/l/_QIWizAIMouvh
https://dl.doubtnut.com/l/_z77m80bsDcGE


A. a finite decimal

B. 

C. terminating after 6 digits

D. non-terminating repeating

Answer: B

Watch Video Solution

1.41421.... .

6. Which of the following irrational ?

A. √( )
4
9

https://dl.doubtnut.com/l/_z77m80bsDcGE
https://dl.doubtnut.com/l/_O14jGVsDZpxf


B. 

C. 

D. 

Answer: C

Watch Video Solution

√(12)

√(3)

√(7)

√(81)

7. Which of the following is irrational?

A. 

B. 

0.14

0.14̄ ¯̄̄16

https://dl.doubtnut.com/l/_O14jGVsDZpxf
https://dl.doubtnut.com/l/_2vrAzu5OTQEd


C. 

D. 

Answer: D

Watch Video Solution

0. ¯̄¯̄̄ ¯̄¯1416

0.4014001400014.........

8. A rational number between  and  is

A. 

B. 

C. 

√2 √3

( )
√2 + √3

2

( )
√2. √3

2

1.5

https://dl.doubtnut.com/l/_2vrAzu5OTQEd
https://dl.doubtnut.com/l/_y16bWn8V1gMW


D. 

Answer: C

Watch Video Solution

1.6

9. The value of ….. In the form of , where

p and q are integers and , is

A. 

B. 

C. 

1.999
p

q

q ≠ 0

19

10

1999

1000

2

https://dl.doubtnut.com/l/_y16bWn8V1gMW
https://dl.doubtnut.com/l/_c0yFkmzSE71e


D. 

Answer: B

Watch Video Solution

1

9

10. The value of  is

A. 

B. 

C. 

D. 

2√3 + √3

2√6

6

3√3

4√6

https://dl.doubtnut.com/l/_c0yFkmzSE71e
https://dl.doubtnut.com/l/_KbtoLJ84XdLv


Answer: C

Watch Video Solution

11.  is equal to

A. 

B. 

C. 

D. 

Answer: B

√10. √15

6√5

5√6

√25

10√5

https://dl.doubtnut.com/l/_KbtoLJ84XdLv
https://dl.doubtnut.com/l/_L3Cf7Wrj8ib3


Watch Video Solution

12. The number obtained on rationalising the

denominator of  is

A. 

B. 

C. 

D. 

Answer: A

1

√7 − 2

√7 + 2
3

√2 − 2

3

√7 + 2
5

√7 + 2
45

https://dl.doubtnut.com/l/_L3Cf7Wrj8ib3
https://dl.doubtnut.com/l/_tfYWME3bsKSj


Watch Video Solution

13. 
is equal?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

√9 −  √8

(3 − 2√2)
1

2

1

3 + 2√2

3 − 2√2

3 + 2√2

https://dl.doubtnut.com/l/_tfYWME3bsKSj
https://dl.doubtnut.com/l/_20ouzcLmRA2u


14. After rationalizing the denominator of

, we get the denominator as

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7

3√3 − 2√2

13

19

5

35

https://dl.doubtnut.com/l/_1K05oXQ0SUu5
https://dl.doubtnut.com/l/_i69nZ97EZAo3


15. Find the value of

'(sqrt(32)+sqrt(48))/sqrt(8)+sqrt(12))`

A. 

B. 2

C. 4

D. 8

Answer: B

Watch Video Solution

√2

https://dl.doubtnut.com/l/_i69nZ97EZAo3


16. If 
 then 
 is equal

to

A. 2. 4142……

B. 5.8282……

C. 0.4142…….

D. 0.1718……

Answer: C

Watch Video Solution

√2 = 1. 4142, √
√2 − 1

√2 + 1

https://dl.doubtnut.com/l/_jX6vAUQu8Xr1
https://dl.doubtnut.com/l/_7wi2D1TXskHi


17.  equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4√ 3√22

2− 1
6

2−6

2
1
6

26

18. The product  equal to3√2. 4√2. 12√32

https://dl.doubtnut.com/l/_7wi2D1TXskHi
https://dl.doubtnut.com/l/_M79aQq3jKPMH


A. 

B. 2

C. 

D. 

Answer: B

Watch Video Solution

√2

12√2

12√32

19. The value of  is

A. 

4√(81)−2

1

9

https://dl.doubtnut.com/l/_M79aQq3jKPMH
https://dl.doubtnut.com/l/_KWWQWD6umM4f


B. 

C. 9

D. 

Answer: A

Watch Video Solution

1

3

−
1

9

20. 

A. 4

B. 16

(256)0 .16 × (256)0 .09 = ?

https://dl.doubtnut.com/l/_KWWQWD6umM4f
https://dl.doubtnut.com/l/_lh7KrF2UGkz0


C. 64

D. -4

Answer: A

Watch Video Solution

21. which of the following is equal to x ?

A. 

B. 

C. 

x − x
12
7

5
7

12√(x4)
1
3

((x)3)
1
3

https://dl.doubtnut.com/l/_lh7KrF2UGkz0
https://dl.doubtnut.com/l/_tWRj28UjJr1B


Short Answer Type Questions

D. 

Answer: C

Watch Video Solution

x × x
12
7

7
12

1. Let x and y be rational and irrational

numbers , respectively. Is x+y necessarily an

irrational number ?

https://dl.doubtnut.com/l/_tWRj28UjJr1B
https://dl.doubtnut.com/l/_AxzFzW5lSf9X


A. True

B. False

C. Can not be determined

D. None of these

Answer: A

Watch Video Solution

2. If 
 is a rational number and 
 is an

irrational number, then both 

are
 necessarily rational
 both 

x y

x  +  y and xy

x  +  y and xy

https://dl.doubtnut.com/l/_AxzFzW5lSf9X
https://dl.doubtnut.com/l/_xWiLJt6bZ3Bt


are
 necessarily irrational 
 is
 necessarily

irrational, but 
can be
either rational or

irrational
 
 is
 necessarily irrational, but 


can be
either rational or irrational

Watch Video Solution

xy

x  +  y

x  +  y

xy

3. State whether the following statements is

false ?

A.  is a rational number.
√2

3

https://dl.doubtnut.com/l/_xWiLJt6bZ3Bt
https://dl.doubtnut.com/l/_c7lpcfxAra2w


B. There are infinitely many rational

between any two integers.

C. Number of rational numbers between 15

and 18 is infinite.

D. Rational are numbers which can be

written in the form  ,  p and q

both are integers.

Answer: A

Watch Video Solution

p

q
q ≠ 0,

https://dl.doubtnut.com/l/_c7lpcfxAra2w
https://dl.doubtnut.com/l/_5HwFSkTOZaUL


4. Check which of the following numbers is

rational .

A. 

B. 

C. 

D. 1.010010001...

Answer: B

Watch Video Solution

√
9

27

√196

(1 + √5) + (4 + √5)

https://dl.doubtnut.com/l/_5HwFSkTOZaUL
https://dl.doubtnut.com/l/_JVLv8Drow4C2


5. Find which of the variables  and 

represent irrational numbers :(i)  (ii) 

(iii) (iv) 

A. z

B. y

C. x

D. u

Answer: C

Watch Video Solution

x, y, z u

x2 = 5

y2 = 9 z2 = 0.04 u2 =
400
4

https://dl.doubtnut.com/l/_JVLv8Drow4C2
https://dl.doubtnut.com/l/_ervXkieOtR1o


6. find three rational numbers between (i) –1

and –2 (ii) 0.1 and 0.11
 (iii)
5/7 and
6/ 7 (iv)
 1/4

and
1/ 5

A. 

B. 0.1 and 0.11

C. 

D. 

Answer:

Watch Video Solution

−1 and − 2

and
5

7

6

7

and
1

4

1

5

https://dl.doubtnut.com/l/_ervXkieOtR1o
https://dl.doubtnut.com/l/_J3aUaMPCwt7S


7. Inset a rational number and an irrational

number between the following 

(i) 2 and 3 , (ii) 0 and 0.1, (iii)  

(iv)  , (v) 0.15 and 0.16 , (iv) 

 


(vii) 2.357 and 3.121 , (vii) .0001 and .001 

(ix) 3.623623 and 0.484848 , (x) 3.375289 and

6.375738

View Text Solution

and
1

3

1

2

and
−2

5

1

2

√6 and √3

https://dl.doubtnut.com/l/_J3aUaMPCwt7S


8. Represent the following numbers on the

number line 

Watch Video Solution

7, 7.2, − and −
3

2

12

5

9. Locate  on number line.

Watch Video Solution

√10 and √17

10. Represent geometically the following

numbers on the number line 

https://dl.doubtnut.com/l/_OcQ1DbFpKHhr
https://dl.doubtnut.com/l/_dP9qGjpIehdN
https://dl.doubtnut.com/l/_4CQivT6T7RAZ


A. 

B. 

C. 

D. 

Answer:

View Text Solution

√4.5

√5.6

√8.1

√2.3

https://dl.doubtnut.com/l/_4CQivT6T7RAZ
https://dl.doubtnut.com/l/_hOeiBeSLEyPV


11. Express the following in the form  where

p and q are integers and  (i) 0.2 , (ii)

0.888…. , (iii)  (iv)  , ( v) 0.2555…. ,(vi) 

 (vii) 0.00323232….. ,(vii) 0.404040…

View Text Solution

P

q

q ≠ 0.

5. 2̄ 0. ¯̄̄ ¯̄¯001

0.1̄ ¯̄̄34

12. Show that 0.142857142857….. .

Watch Video Solution

=
1

7

https://dl.doubtnut.com/l/_hOeiBeSLEyPV
https://dl.doubtnut.com/l/_btaVgsqJcKur


13. Simplify the following (i)

 (ii)  (iii) 

 (iv)  (v)

 (vi)  (vii) 

 (viii) 

 (ix) 

View Text Solution

√45 − 3√20 + 4√5 +
√24

8

√54

9
4√12 × 7√6 4√28 ÷ 3√7 ÷ 3√7

3√3 + 2√27 +
7

√3
(√3 − √2)

2

4√81 − 8 3√216 + 15 5√32 + √225

+
3

√8

1

√2
−

2√3

3

√3

6

14. Rationalise the denominator of the

following (i) , (ii) ,(iii)
2

3√3

√40

√3

3 + √2

4√2

https://dl.doubtnut.com/l/_LAwu2Ll0JFtZ
https://dl.doubtnut.com/l/_Y4aB8yg7Hddg


,(v) , (vi)  (vii)

,(viii)  , (ix)

View Text Solution

(iv)
16

√41 − 5

2 + √3

2 − √3

√6

√2 + √3
√3 + √2

√3 − √2

3√5 + √3

√5 − √3

4√3 + 5√2

√48 + √18

15. find the values of a and b in each of the

following (i) (5+2sqrt3)/(7+4sqrt3) =a-6sqrt3

(ii) (3-sqrt5)/(3+2sqrt5)= asqrt5-(19/11)
 (iii)

(sqrt2+sqrt3)/(3sqrt2-2sqrt3)=2-bsqrt6
 (iv)

(7+sqrt5)/(7-sqrt5)-(7-sqrt5)/(7+sqrt5)=a+

(7/11)bsqrt5

https://dl.doubtnut.com/l/_Y4aB8yg7Hddg
https://dl.doubtnut.com/l/_VlmdGSWPnVXj


A. 

B. 

C. 

D. 

Answer:

View Text Solution

= a − 6√3
5 + 2√3

7 + 4√3

= a√5 −
3 − √5

3 + 2√5

19

11

= 2 − b√6
√2 + √3

3√2 − 2√3

− = a + √5b
7 + √5

7 − √5

7 − √5

7 + √5

7
11

16. if , then find the value of 

.

a = 2 + √3

(a − )
1

a

https://dl.doubtnut.com/l/_VlmdGSWPnVXj
https://dl.doubtnut.com/l/_HWUJlbsCcbOe


Watch Video Solution

17. Ratonalise the denominator in each of the

following and hence evalute by taking

upto three places of decimal. 

, (ii) ,  


 ,(v) 

Watch Video Solution

√2 = 1.414, √3 = 1.732 and √5 = 2.236

(i)
4

√3

6

√6
(iii)

√10 − √5

2

(iv)
√2

2 + √2

1

√3 + √2

https://dl.doubtnut.com/l/_HWUJlbsCcbOe
https://dl.doubtnut.com/l/_mjuPZ3dfKStX


Long Answer Type Questions

18. simplify 

(ii) ,

(iii) 


(vi) ,(v) (vi)

 


Watch Video Solution

(i)(13 + 23 + 33)
1
2 ( )

4

( )
−12

( )
63

5

8

5

32

5

( )
−1

27

2
3

[((625)− ))
−
]
2

1
2

1
4 9 × 27−1

3
1
2

3 × 3−1
6

2
3

64− [64 − 64 ]
1
3

1
3

2
3

8 × 16
1
3

1
3

32− 1
3

https://dl.doubtnut.com/l/_CW1RY6p6PCZk
https://dl.doubtnut.com/l/_pWthbp1zDkMO


1. Express  in the form 

where p and q are integers and .

Watch Video Solution

0.6 + 0. 7̄ + 0.47̄
p

q

q ≠ 0

2. Simplify

Watch Video Solution

− −
7√3

√10 + √3

2√5

√6 + √5

3√2

√15 + 3√2

https://dl.doubtnut.com/l/_pWthbp1zDkMO
https://dl.doubtnut.com/l/_UdwQKyQBvs1D


3. if then find

the value of 

Watch Video Solution

√2 = 1.414 and √3 = 1.732

+
4

3√3 − 2√2

3

3√3 + 2√2

4. If  then find the vaule of 

Watch Video Solution

a =
3 + √5

2

a2 +
1

a2

https://dl.doubtnut.com/l/_tQ7FGzzjCaaH
https://dl.doubtnut.com/l/_4KMtm7HwitsG


5. If  then

find the value of  ?

Watch Video Solution

x = and y =
√3 + √2

√3 − √2

√3 − √2

√3 + √2

x2 + y2

6. Simplify: 

Watch Video Solution

(256)
− (4

( )
)

− 3
2

https://dl.doubtnut.com/l/_KZMTGMSTbU6K
https://dl.doubtnut.com/l/_HPRgzuHFy4Xp


7. Simplify:

Watch Video Solution

+ +
4

(216)−
2
3

1

(256)
− 3

4

2

(243)−
1
5

https://dl.doubtnut.com/l/_vZJIx0MO47TJ

